1.

th-2 87} ZHo] 3§ AB 7} BHo| 1,
/PAB = 42° & W, /ABP 9] 37| &
“FobH?

@D 42° @ 44° B 46°

@ 48° ® 50°

42°

Al



2.

ohe 2N zx + 2y O] 2710

@® 95° @ 105° @ 115°

@ 120° O 130°

80° Y



5& 184 AC = 5om ©1F sinB = &, sinC = © 2 ), BT 9

5
ZAol?
21 23 25
® 2Z7<:m @ %cm ® —em
@ Zcm @ Zcm






o 124 ABE= 9 09 A Eo]11
/AOC = 120°, Z/ADC = 90°, AO =
12ecm @ o}, ACAD €] HolE -}

~-~12cm- "0



S YA ABCD ©|A AB = A D
8cm, BC = 12cm, /B = 60° ¥ o,
OABCD 9] Ho]& ~tstofe}.

B e’



7. o 29O 90 oA AT REel
Yol=7 (@ AB = OD)

® 35cm? @ 40cm? ® 52cm?

@ 60cm? ® T72cm?



thS I af Zo] A Hre] g A P oA @ O o 18 F HAL 7tz
A A, B oA Adch /AOB = 120°, AO = 12 & off, t}8 & 27
A2 229

@ /APB = 60° ® PA=12V3 ® AB =12

@ /0AB = 30° ® OB =12



9. T&IHA T AB=3r< 1, & 09
Ed o] HolE ot}




10. o= ™A x+y 9 727

@® 140° @ 145° ® 150° @ 155° ® 160°



11. o8 199 9 0 o WH35H= 2729 ABCDE o4 /AOE = 34° ¢
o, /ABC + /CDE 9] 327]=?

@® 191° @ 193° ® 195° @ 197° ® 199°



12. the TelA o] AZkao] el WS w, LACD ©] 3718 vk
T3 AL

O 64° @ 63° ® 62° @ 61° ® 60°



13. 909 HAT 7 v+ £, BT = BP,/BTP = 54° & T3t
tta g o, /ATB ] 7|2 dgre 7129

P
B54“

/ T

D 11° @ 13° ® 14° @ 17° ® 18°

A



14. & 184 AP = % @ AB, CD ¢ wdo|t}. PA = 3PD,
PC =2PD ¥ o], PB &= PD 9] 2 ujj7} 5&=717

Hjj @%HH @%HH ® 1 4j



15. o 26l4 PTE §220] 3em 1 € O
ol HAY ), x o] 7HS Fokelet.

VAN
9/10¢m



the T4 5 B Aol9] Wol7t 12r o]k, 2L Aol Hot
2 919] @ PQ 9] Folg Fohul?

P

D 53 @ 43 ® 3v3 @ 23 ® V3



17. ©h& TM A D, B, F & M2H4213 ABC S A9 0 ) HHY
W, 90 9 Wl

~4emDT-6cm--"

@ mcm? @ 2rcm? @ 3mcm?

@ 4mcm? ® brcem?



18.

o1, /E = 75° ¢ w, 2.COD




19.

the 1903 2] AC 7H 152 € 0 £ aABC 9] 94 90]1 2 Of
L g elelth. 40 99O o MAZ dolvh A2 4, 19 ),
sABC ©] Ho|g Fatelet,




20.

o2 28 PTE= € 09 HAolar
PB+ &Ao|tt, PA = 6cm, AB =
18cm, AT = 8cm @ W], BT 9] Z 9]

9

® 10 @ 12 ® 14
@ 16 ® 18




